SPRINFORS

LUapHVIpr yrnosble€ C 3aXMMOM (OLI,I/IHKOBaHHaFI CTa.l'Ib)

SPHERE@10 - A MX
< |
=B= ‘
. Mx1
Pasmepbl  (mm) Pasmepbl  (mm)

Ref. Ref.

No | A | B| MX | D| MXx1 No | A | B| MX | D| MXx1
K101 | 17 9 M6x1 11 | M6x1 K113 | 21 11 | M6x1 11 | M6x1
K102 | 17 9 M6x1 13 | M8x1.25 K114 | 21 11 | M6x1 13 | M8x1.25
K103 | 17 9 M8x1.25( 11 | M6x1 K115 | 21 11 | M8x1.25| 11 | M6x1
K104 | 17 9 M8x1.25| 13 | M8x1.25 K116 | 21 11 | M8x1.25| 13 | M8x1.25
K105| 18 | 10 | M6x1 11 | M6x1 1153 | 22 | 11 | M6x1 11 | M6x1
K106 | 18 | 10 | M6x1 13 | M8x1.25 K117 | 22 | 11 | M6x1 13 | M8x1.25
1133 [ 18.5| 10 | M8x1.25| 11 | M6x1 K118 | 22 | 11 | M8x1.25| 11 | M6x1
1121 [ 18.5] 10 | M8x1.25| 13 | M8x1.25 K119 | 22 | 11 | M8x1.25| 13 | M8x1.25
1122 | 19 | 10 | M6x1 11 | M6x1 K120| 23 | 11 | M6x1 11 | M6x1
1134 | 19 | 10 | M6x1 13 | M8x1.25 K121 | 23 | 11 | M6x1 13 | M8x1.25
K107 | 19 | 10 | M8x1.25| 11 | M6x1 K122 | 23 | 11 | M8x1.25| 11 | M6x1
K108 | 19 | 10 | M8x1.25| 13 | M8x1.25 K123 | 23 | 11 | M8x1.25| 13 | M8x1.25
K109 | 20 | 10 | M6x1 11 | M6x1 K124 | 24 | 12 | M6x1 11 | M6x1
K110| 20 | 10 | M6x1 13 | M8x1.25 K125| 24 | 12 | M6x1 13 | M8x1.25
K111 | 20 | 10 | M8x1.25| 11 | M6x1 K126 | 24 | 12 | M8x1.25| 11 | M6x1
K112 | 20 | 10 | M8x1.25| 13 | M8x1.25 K127 | 24 | 12 | M8x1.25| 13 | M8x1.25

SURFACE PROTECTION: Zinc plated and white, black or yellow passivated(Standard application)




	Страница 1

